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I X1 Alternate beneficiaries and donors for pwiTp (M=man; W=woman; O=other)
i~ W says toM - give money to O and I'll be nwTpnn to you — valid following nkin-model of 2y
1 explanation: just as 27y gains nothing but becomes obligated, so too, W gets nothing but is nTaynwn to M
ii O says to W — here’s money and be nwTpnn to M — valid following nxrin-model of (freeing) »1v13 T2y
1 Explanation: just as »13p13 72 gives nothing but gains freedom; so too, M gives nothing but is nnp W
iii W saystoO - give money to M and I'll be nwTpnn to him — valid following combo of [i] and [ii]
1 Explanation: even though:
(@) In case of: 27y, the one who “acquires” him gives up money, here M “acquires” W without paying
(b) In case of: »3y13 T2, the one who “gives up” gains something (the owner) — here W “gives up” (her
freedom) without gaining anything
(c) Note: each of these weaknesses is proven to be irrelevant by the other
iv  Question: (final leg of square) — if W says to M — here’s money and I'll be nwpnn to you — valid?
1 xoa"—valid
(a) challenge: if so, we have nInxk bnY vv D02 (woman) acquired along with NNk onY PRY (money)
(i) explanation: (n:X) Mwn - rules the opposite (NPINR BN VW “carry” ..nnY PRY)
(b) answer: only works if the man is 21wn D1x; it’s a benefit to her that he accept her gift
(c) note: same applies to pnn
(d) justification: if we only had pwymp, ™10 it works as per...a7 10 an°'n% 2v (she’s “easily” betrothed)
(e) and: if we only had nn, ®™70 since it’s able to be forgiven...
I ®17: Variations on “half-pwymp”
a  Msays to W: “you are nwTpnn to % of me” — valid
i Reason: he could theoretically marry another
b Msays to W: “%2 of you is nwTpnn to me” — invalid
i Reason: she could not marry another
ii  Challenge: the Y2 pvy1p should “spread” throughout and affect her entire self
1 Model: if someone is WTpn part of an animal that is vital (e.g. heart, head — or V% of it) — the nwyTp spreads
(a) Note: there is an opinion that even if he is v1pn a leg, e.g., the wTpn spreads throughout
2 Answer: bad analogy — here she has her own mind (unlike an animal) and only accepted 2
3 Rather: the analogous case is of 2 partners who own an animal
(a) Then: one is w*1pn his %2, then buys the other half and is w*1pn it — doesn’t spread
(i) Note: the v1pn holds, but it may not be brought on the namn — n1nn applies and the "N has
the same rule (of n2Mp NPRY NVITP)
1. three inferences:
a. 1T (rejection) applies to animals even before no'nw
b. 71 applies to onT (i.e. non-sacrificial sancta)
c. 7 from the onset (was never fit) is considered »nn»7
¢  question (837): “ 2 of you with ¥ a nv1a and Y2 of you with % a noma” -
i lemmal: do we see each 4 as independent,
ii lemma2:is he counting “up” and it’s all 1 nova (valid)
1 if: we accept the latter
2 what if: he says “ %2 of you with a nvo1a and %2 of you with a nv1a”
(a) lemmal: do we consider each nv119 as independent (invalid as “ 2 of you” is invalid as above)
(b) lemma2: do we consider all same-day transactions as linked
(i) if: we accept the latter
(if) what if: he says “ Y2 of you today with a nv1a and %2 of you tomorrow with a nv11a”
1. lemmal: do we consider “tomorrow” to be a break
2. lemma2: do we interpret it as “pv11p begin now but are only complete tomorrow”
d  question: what if he says “both of your halves with one nvy19” —
i lemmal: he certainly intends this as one transaction (valid) *
ii  lemma2: there are absolutely no 2-pw11p (vis-a-vis woman) yp'n
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